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01) A. Multiple Choice Quesiions(10 questions for 1 mark each)

i. ln a sparse matrix, most ot the elements are:
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IDstflctions:
Speclal Inst.: 't) Oue. 1 and Oue.8 are compulsory.

2) Attempt any FOUn queslions lrom Oue. No. 2 to OUG' No. 7.

3) Figures to the right indicates marks.

ii. Which data structure is used in BFS (Breadth First Search) ol a graph?

A. Non-zero
B. Zeto
C. Negative
D. Positive

A. Stack
B. OueLre

C. Afiay
D. Tree

iii. Which data uses LIFO (Last ln, First Out)

A- Queue
B. Siack
C. Array
D. Linked List

principle?

iv. ln a circular queue, how do you check iI the queue is full?
A. rear == size - 1

B. (rear + 1) % size == lront

C. front == rear

D. rear == Iront - 1

v. Which of the following data stluclures allows insenions and deleiions
,rom both ends?

A. Queue
B. Stack
C. Deque
D. Priority Queue

tu P.T.O.



vi. A binary tree with ,n, nodes has how many edges?

B. n-1
C. n+.1
D. 2n

t.

viiWhat is the result of evaluatino lhrA 74 - ! postfix expression 6 g 2 4 + _ _?

B. -18
c. 22

D. 40

viiln a sjngly linked list. what does the last node poinl to?A. ltself
B. Ihe head node
C. NULL
D. Bandom node

lx. What,is the primary disadvantage of arrays?
A. Fixed size
B. Dynamic resizing
C. Bandom access
D. Effclent memory usage

x. Which o, the followlng is not a type oI queue?
A. Circujar eueue
B. Deque

C, L|FO eueue
D. Prjority Oueue

Short^answer question(Any two out of three) fIOl,. Denne linked lisl. Compare linked lisr wrth arrays.2. What rs a binary search tree IBSTBST. )? F\platn inserfior and searchjng in

3. What js recursion? Explain factorecursion rial and Fibonaccj sequence using

02) What is eueue? Descrjbe eueue operations using array.

Q3) Wnte an algorithm to insert a node at the beginning, middle, and end ol a sinoly

B.
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Explain aalacencv matrix and adjacency rist

t21

representatjon wjth
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Q5) Exptain the represenlation of a 2D array in memory. Write a o,"nr". ," 
"oo?J" 

fl:16matrices.

Q6) Write and exptain the bubble son and setection sort algorithms with step_by_step [10]examples.

of hash tables. Describe different hash [10]
resolutior techniques with examples.

Q7) What is hashing? Exptain lhe concept
functions and explain any two collision

Q8) Wltte short note on(Any Four out of Six)

a. tvlatrices and sparse Matrices

b. Ctassifcation of Data Structure

[201

tsl

tsl

t51

Is1

I5I

l5I

c.

d.

e.

t.

Operations of Linked List

Collision with Collision Resolution

Applications of eueue

AVL Trees
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